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ft's 4:00 pm on October 31, and you just realized that it was your
job to contribute the scary sound for this year's haunted house.
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12 V battery
Fi A For optimal scariness, you should modulate the sound by
J. & repeatedly opening and closing:
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Exam'gle 26.33 ¢ In the circuit shown in  Figure E26.33
Qa Fig. E26.33 all meters are ide- 100.0.0
JﬂP—iL E-T K16 ~Taky=0 alized and the batteries have no ' ¢ =5

appreciable internal resistance.

I':I2=)I|=E,+f: =03294 (@ Find the reading of the volt- 250\'; 75.0
1R meter with the switch § open. : T

Q
15V, = 0, V,=a5\- a;:;qﬁ(mm) Which point is at a higher poten- A
tial: a or b? (b) With S closed, find
= 215V the reading of the voltmeter and the ammeter. Which way (up or

down) does the current flow through the switch?
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